AURORA FEBRUARY 1990 MONTHLY REPORT

FEBRUARY 1990 AURORA MONTHLY REPORT

1. SUMMARY

	Mo	nth	YTD	
	Actual	Plan	<u>Actual</u>	Plan
Ore mined	30,596	13,643	30,800	13,643
Grade ore mined (est.)	0.085	0.129	0.085	0.129
Waste mined	241,834	162,411	274,868	187,411
Strip ratio	7.9	11.9	8.9	13.7
Ore crushed to heap	6,688	9,336	6,688	9,336
Ounces to heap	759	1,102	759	1,102
Oz. Au recovered (est)	875	1,482	2,621	3,427
Stockpile	1,738 @	.049 oz/ton		
Manpower	25	23		

2. MINING

(a) General

Mining production for February in winter conditions was excellent with only one major storm causing any sort of delay. Ore mined was 224% of plan and waste was 149% of plan.

A poor blast in the first ore pattern on the 7240 bench caused excessively high dilution. Our contractor's blasting techniques are being reviewed and changes are being recommended.

PRODUCTION SUMMARY FOR FEBRUARY

	Waste (tonnes)	Ore (tonnes)	Grade (oz./ton)	Total (tonnes)	<u>S.R.</u>
Truck count	240,732	30,456	0.085	271,188	7.9
Volume	241,834	30,596	0.085	272,430	7.9
Budget	162,661	13,643	0.129	176,304	11.9
Percent	149%	224%	66%	155%	
Variance	79,173	16,953	-0.044	96,126	

YEAR TO DATE PRODUCTION SUMMARY

	Waste (tonnes)	Ore (tonnes)	Grade (oz/ton)	Total (tonnes)	<u>S.R.</u>
Truck Count	267,030	30,618	0.085	297,648	8.7
Volume	274,868	30,800	0.085	305,668	8.9
Budget	187,411	13,643	0.129	201,054	13.7
Percent	147%	226%	66%	152%	
Variance	87,457	17,157	-0.044	104,614	

(b) Planning Issues

Pad Construction

The survey crew worked on construction plans and earthwork volumes for pads 7 and 8. The plan will include a leak detection system and leak detection sump for each heap. This work will be completed in March and will be put out for bid.

Powerline

Variations to the route in order to avoid Hilton ground have been given to the power company. If approval from Hilton is not received in time, the line will be moved to the alternate route.

3. CRUSHING

	<u>February</u>	YTD
Wet tonnes crushed	7,115	7,115
Dry tonnes crushed	6,688	6,668
% moisture	6.0%	6.0%
% passing 0.375"	89.0%	89.0%
Tonnes passing 0.375"	5,951	5,951
% oversize	11.0%	11.0%
Heap feed grade by AA (OPT)	0.107	0.107
Heap feed grade by Fire (OPT)	0.113	0.113

Contained ounces to heap Au (AA)	716	716
Contained ounces to heap Ag (AA)	1,556	1,556
Contained ounces to heap Au (FA)	759	759
Contained ounces to heap Ag (FA)	1,650	1,650

Crusher production for the month totalled 6,668 dry tons. The head grade of material stacked was 0.113 opt gold. The grade was determined from three actual fire assays and the remainder of the assays calculated at 1.06 times cyanide grade.

Prior to start-up on February 21st, the Ramsey belt weightometer was inspected and calibrated by a Ramsey representative. Some adjustments were made to the set-up of the system and a report of observations and adjustments to the unit was issued.

4. PLANT

257
201
21,798,600
90,791
0.030
2,762
0.007
625
0.024
2,137
77.4%

Bullion

The breakdown of poured bullion is as follows:

		January	YTD
			1,745.89
Pour AP-4-90	Total Pour	1,439.17	
(Feb. 13/90)	Ounces Au	337.45 JM	2,083.33
	Ounces Ag	1,101.73	
Pour AP-5-90	Total Pour	1,503.81	
(Feb. 27/90)	Ounces Au	453.85 JM	2,537.18
	Ounces Ag	1,037.48 (prelim)	

Settlement Carbon (G.D. Resources)

83.893

2,621.07

Bullion for February totalled 875.19 oz. Au. This total is based on figures from final results on pour AP-4, preliminary Johnson Matthey results on pour AP-5, and settlement ounces on a carbon and slag shipment sent to G.D. Resources in December 1989.

Final results were also received on pour AP-3. The finals were 477.242 oz. Au resulting in a monthly total of 1,745.885 oz. Au for the month of January.

During the month, flows to the plant were maintained at an average of 234 GPM. The low flows came as a result of insufficient flow from the heaps of acceptable grade and because of colder weather slowing down the amount of solution passing through the heaps.

On February 16th, a snowstorm accompanied with cold temperatures descended on the area. The cold temperatures results in some freezing of the main solution lines on the heaps and this, along with a three hour power outage, compounded the problem of low flows both to and from the heaps.

Only one carbon column set was changed over during February. The carbon in "C" set was replaced with fresh Barneby & Sutcliffe carbon. This carbon is being tested along with other brands of carbon with regard to both price and activity.

At the beginning of January, a test using a new settling agent for very fine carbon was started. This test lasted for the months of January and February and was terminated for two reasons. One that a preponderance of fine carbon is still being observed, and secondly that an honest evaluation cannot be made until the new barren pond is activated as some of the fines could be coming from the pond bottom having been deposited at an earlier date.

Also during the month, an ongoing test using a carbon descaler continued. This agent will replace, for the most part, the need for an acid washing step involved in the strip cycle and will represent a substantial saving in acid costs over a yearly period if it proves successful. Numerous carbon scans on carbon before and after the addition of this descaler have been performed and so far results look promising with minimum calcium deposit remaining on the carbon after using the product.

5. METALLURGICAL TESTING

No final results had arrived from ongoing column tests during the month.

The November composite has been under leach for 65 days with a 65.5% recovery after 55 days leaching based on an assayed head of 0.139 oz. per ton. Tests are now being run until a steady state is reached, or we request the test to be ended.

The test on the December composite is being carried out at 3/8" and 1/4" crush sized. To date, the tests show a recovery of 68.7% on 1/4" material and 63.6% recovery on 3/8" material. These recoveries are based on an assayed head grade of 0.099 oz. per ton after 36 days leaching.

6. REAGENTS AND CEMENT

Feb	ruary	YT	D
Lbs	Lbs/Ton	<u>Lbs</u>	Lbs/Ton
950	0.142	2,000	0.299
100	0.015	200	0.030
75	0.011	225	0.034
150	0.022	325	0.049
850	0.127	1,100	0.164
5,840	0.873	14,580	2.180
445	0.067	1,945	0.291
2,990	0.447	5,281	0.790
3,000	0.449	6,200	0.927
1,300	0.149	2,500	0.374
3,004	0.449	6,003	0.898
76,253	10.7	76,253	10.7
	950 100 75 150 850 5,840 445 2,990 3,000 1,300 3,004	950 0.142 100 0.015 75 0.011 150 0.022 850 0.127 5,840 0.873 445 0.067 2,990 0.447 3,000 0.449 1,300 0.149 3,004 0.449	Lbs Lbs/Ton Lbs 950 0.142 2,000 100 0.015 200 75 0.011 225 150 0.022 325 850 0.127 1,100 5,840 0.873 14,580 445 0.067 1,945 2,990 0.447 5,281 3,000 0.449 6,200 1,300 0.149 2,500 3,004 0.449 6,003

Consumption of certain reagents on a pound per ton basis are artificially high because there was no crushing in the month of January and very little in February.

7. GEOLOGY

Stockpile Summary

Month End Stockpile Tons	25,506
Month End Stockpile Grade	0.075
Month End Stockpile Ounces Gold	1,912

Monthly Reconciliation

Ore production for the month was from the 7260 and 7240 benches. Approximately 1/4 of the 7260 bench remained from the last year. On the 7240 bench, 75% was mined this month with the remainder to be mined in March.

Tons mined off both benches this month were higher than expected due to mining ore that had fallen into the stope from higher benches, and poor blasting which caused excessive dilution.

A double chevron blast was tried in the ore in an attempt to reduce the amount of oversize produced in the pit. The blast resulted in less oversize, but also caused excessive dilution. LDC has been informed that this type of pattern will not be allowed in the ore.

LDC has currently been requested to rotate their drilling pattern in order to blast along the strike of the vein in an effort to further decrease dilution due to blasting.

Lower than expected grades were mined this month as a result of the exploration hole in this area which went along a fault contact which had high grade values associated with it, resulting in an overestimation of the ore grade for that block.

Blasthole information shows that the fault has shifted the ore body and that the high grade zones indicated by exploration drilling are only in the immediate vicinity of the fault, and that grades were lower further from the fault.

The 7260 bench had ore in the stope which had fallen in from mining the benches above. Both the ore zones mined and the collapsed ore in the stope had lower grades than expected. Tonnage from the 7260 bench far exceeded plan because mining was ahead of schedule. The actual grades were lower than expected due partly to dilution in the first two blasts on this bench, and partly to lower overall grades in the ore zones.

Total production from the 7240 bench is expected to be 33,994 tons grading 0.129 oz. per ton Au. There will be a shortfall from this bench of about 3,300 tons. The ore zones mined were smaller and of lower grade than projected in the model.

8. LABOUR TURNOVER AND SAFETY

During the month of February, no major personnel changes occurred.

Two vehicle incidents occurred during the month. Repairs resulting from the first

incident called for a new windshield for the one ton crew cab. The second caused more damage requiring that the driver's door undergo extensive repair.

9. FINANCIAL

	<u>December</u>	January	<u>February</u>
Gold sales net	\$993,867	\$689,794	\$374,195
Net income	\$215,614	\$22,746	\$(116,013)
Ounces of gold produced	2,754	1,745	874
Cash operating cost per ounce	\$222	\$261	\$388

(See appendix item "3" for details.)

10. OTHER

Target vs. Minerex

No activity of substance in February.

Rodney N. Duncan 22 March 1990

APPENDIX

Appendix Item "1"

Appendix Item "2"

Appendix Item "3"

February Production Summary

February Bench Volume Reconciliation

Aurora Partnership February Balance Sheet and Financial Statements

MONTHLY REPORT SUMMARY FORM 20-Mar-30

09:16 PM

FILE: MNIMSUM90 COMMENTS: Monthly report form with summary property information.

RURDRA PARTMERSHIP MONTHLY PRODUCTION SUMMARY

PERIOD:	Feb-90											
MONTH	BCTURIL	PRODUCT II	GOLD PRODUCTION (OZ) ACTURL PLAN VARIANCE	ORE TO PICTURIL	PRIOS (dr.	ORE TO PROS (dry tons) : FEED GRADE (oz/ton) CTURL PLAN VARIANCE : RCTURL PLAN VARIANC	FEED G	PLAN	FEED GRADE (oz/ton) RCTUAL PLAN UARIANCE	WASTE	WASTE MINED (dry tons)	tons)
JANUARY PEBRUARY	1,746	1,746 1,945 875 1,842	(199):	6,688	9,336	(2,648)	0.113	0.118	9,336 (2,648) 0.113 0.118 (0.005); 241,834	33,034	25,000 8,034 162,411 79,423	8,034
Y. T.B.	2,621	2,621 3,787	(1,166):	6,688	9,336	(2,648)	0.113	0.118	(2,648); 0.113 0.118 (0.005); 274,868 187,411 87,457 -28%;	274,968	187,411	87,457

FILE: 286 - C:\SYMPH\PROD\BEN-9002, WR1 20-Mar-90

RURORA PARTMERSHIP

TONS : URRIGHICE FEBRUARY BENCH VOLLME RECONCILIATION 1990 TONS PLAN PRODUCTION TONS TONS ACTURE PRODUCTION BENCH : NONS

7520 7520 7520 7520 7520 7520 7520 7520	BENCH	MASTE	ORE	SRADE	OUNCES	WASTE	ORE	GRADE	OUNCES	WRSTE	ORE	OUNCES
56,950 9,006 0.099 1,706 95,643 0.129 903 (9,07) 1,500 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	7540					Annual Control of the			The same of the sa	0	0	
186, 950 9, 006 0, 099 992 67,661 6, 643 0, 128 685 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) 2, 363 (10, 70) (10	0267									0	0	
56,960 9,006 0.099 992 67,661 6,643 0.128 eego (10,701) 2,363 184,674 21,590 0.079 1,706 95,000 7,000 0.129 993 49,697 14,590 184,674 21,590 0.079 1,706 95,000 7,000 0.129 90 69,674 14,590 184,674 21,590 0.079 1,706 95,000 7,000 0.129 90 69,674 14,590 184,674 31,596 0.085 2,597 182,661 13,643 0.129 303 49,173 14,643	DOC.						0	0	. 0	0	0	
56,950 9,006 0.079 1,706 95,000 7,000 0.129 953 63,641 14,590 0.079 1,706 95,000 7,000 0.129 903 63,674 14,590 0.079 1,706 95,000 7,000 0.129 903 63,674 14,590 0.079 1,706 95,000 7,000 0.129 903 63,674 14,590 0.079 1,706 95,000 0.129 903 63,674 14,590 0.079 1,706 95,000 0.129 903 63,674 14,590 0.079 1,706 0.079 1,706 0.129 903 63,674 14,590 0.079 1,706	7480				•		and white development with the special			-	0	
56, 960 9,006 0.079 1,706 95,000 7,000 0.129 680 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 693 (99,874 14,590 0.079 1.736 95,000 7,000 0.129 903 (99,874 14,590 0.099 95,000 7,000 0.129 903 (99,874 14,590 0.099 95,000 7,000 0.129 903 (99,874 14,590 0.099 95,000 7,000 0.129 95,000 7,000 0.129 95,000 7,000 0.099 95,000 7,000 0.129 95,000 7,000 0.099 95,000 0.129 95,000 7,000 0.129 95,000 7,000 0.129 95,000 7,000 0.129 95,000 0.	7460 :				•					0 0	0 0	
56, 360 9,006 0.099 982 67,661 6,643 0.128 680 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,674 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,674 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,674 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,674 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,674 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,674 14,590 184,874 184,874 184,874 11,530 0.129 11,530 0.109 0.109 184,834 10,159 0.085 2,597 162,661 13,543 0.179 17,533 74,173 16,663	7440									3 (D	
56,360 9,006 0.099 892 67,661 6,643 0.128 885 (10,701) 2,363 (194,874 21,590 0.079 1,706 95,000 7,000 0.129 893 (89,874 14,590 0.079 1,706 95,000 7,000 0.129 893 (89,874 14,590 0.079 1,706 95,000 7,000 0.129 893 (89,874 14,590 0.079 1,706 95,000 1,706 0.079 1,706 95,000 1,706 9	7420									5 0	= (
56,360 9,006 0.099 992 67,661 6,643 0.128 680 (10,701) 2,383 184,874 21,590 0.079 1,706 95,000 7,000 0.129 993 (99,874) 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 993 (99,874) 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (99,874) 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (99,874) 14,590 184,874 21,590 0.079 1,706 903 (99,874) 14,590 0.00 184,874 21,976 1,764 13,543 0.129 1,753 79,173 14,693	2400									0	-	
56,360 9,006 0.099 992 67,661 6,643 0.128 880 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 993 69,874 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,874 14,590 184,874 184,874 18,706 95,000 7,000 0.129 903 69,874 14,590 184,874 184,874 18,500 18,	200		-				melia de des que se ano se			0	0	
56,360 9,006 0.099 892 67,661 6,643 0.129 863 (10,701) 2,363 (10,7	7380				•				•	0	C	
56,960 9,006 0.079 1,706 95,000 7,000 0.128 850 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (95,874 14,590 0.079 1,706 95,000 7,000 0.129 903 (95,874 14,590 0.079 1,706 95,000 7,000 0.129 903 (95,874 14,590 0.079 1,706	2360				**					0	0	
56,360 9,006 0.099 992 67,661 6,643 0.128 eeco (10,701) 2,363 194,874 21,590 0.079 1,706 95,000 7,000 0.129 993 (9),874 14,590 194,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (9),874 14,590 194,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (9),874 14,590 194,874 1,706 1,706 1,706 1,706 1,706 0.006 <td>7340</td> <td></td> <td></td> <td></td> <td>••</td> <td></td> <td></td> <td></td> <td></td> <td>0</td> <td>0</td> <td></td>	7340				••					0	0	
56,960 9,006 0.099 892 67,661 6,643 0.128 850 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (89,874 14,590 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (89,874 14,590 184,874 21,590 0.079 1,706 1,709 14,590 0 0 184,874 182,661 13,643 0.129 1,753 17,733 16,593	1350								••	0	0	
56,960 9,006 0.099 992 67,661 6,643 0.128 esco (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 (10,701) 2,363 184,834 30,596 0.085 2,597 162,661 13,643 0.129 1,753 79,173 16,953	. 200		and the first other was true to the same state and						•	0	0	
36, 96.0 9,006 0.039 992 67,661 6,643 0.128 eEO (10,701) 2,363 184,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,874 14,590 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	7280							والمن الأموا ماكن أو المناف ما من مناف وهما مناف ماما	And white many distributions were not the read of the same of the	0	0	
194,874 21,590 0.079 1,706 95,000 7,000 0.129 903 69,874 14,590 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	7260	56,960	9,006	0.099	892	67,661	5,643	0.128	850	(10,701)	2,363	
241,834 30,596 0.085 2.597 162.661 13.643 0.129 11.753 79.173 16.953	7270	184,874	21,590	0.079	1,706	95,000	7,000	0.129	903	89,874	14,590	
1	2200								••	0	0	
241,834 30,596 0.085 2.597 162,661 13.543 0.129 1.753 16.953	יכמת י								••	0	0	
241,834 30,596 0.085 2,597 162,661 13,643 0.129 1.753 79,173 16,953	7180 :								A service and serv	0	0	
241,834 30,596 0.085 2,597 162,661 13,643 0.129 1.753 79,173 16,953	7160				•				••	0	0	
241,834 30,596 0.085 2.597 162.661 13.643 0.129 1.753 79.173 16.953	7140								••	0	0	
1	7120								••	0	0	
; 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	TION !				••				•	0	0	
241,834 30,596 0.085 2,597 162,661 13,643 0.129 1.753 29,123 16,953	7080									0	0	
241,834 30,596 0.085 2,597 162,661 13,643 0.129 1.753 79,173 16,953	nen				•				••	0	0	
; 0 0 0 ; 0 0 0 ; 0 0 0 0 0 0 0 0 0 0 0	7040				••				**	0	0	
; ; ; ; ; 0 0 0 ; ; ; 0 0 0 ; ; 0 0 0 ; ; 0 0 0	7050				••				•	0	0	
; ; 0 0 ; ; ; ; 0 0 0 3 ; ; ; 541,834 30,596 0.085 2,597 162,661 13,643 0.129 1.753 79,173 16,953	2000		the sale of a good and a sale of a s							0	0	
241,834 30,596 0.085 2,597 162,661 13,643 0.129 1.753 79,173 16,953	6980							the same distriction and same distriction and same districtions.	-		n	
	TOTAL	241,834	30,596	0.085	2,597		13.643	0.129	1.753	79.173	16 953	

FILE: 286 - C:\SYMPH\PROD\YTD-9002.WRI 20-Nar-90

ALIRORA PARTNERSHIP

YEAR TO DRIE BENCH VOLUME RECONCILIATION FEBRUADY 1990

	ACTUAL PRODUCTION	COUCTION			PLAN PRODUCTION	FEBRUARY 1990 CTION	0661				
ВЕИСН	TONS	TONS	GPRDE	OUNCES	TONS	TONS	GRADE	DUNCES	VARIENCE TONS WASTE	TONS	DUNCES
75.40					to describe the same of the same state of the sa				0	0	0
7500						0	8	0	00	00	00
7480					and the state one are not any the state of	and the same and analysis of the same and th		A section of the sect	0		
7460									-	> c	-
7440				••					00		- c
7400									0	0	0
									0	0	0
7380				•	-		and head time, while the lates and, and the same angle is a super-	-	0	0	
7360									c =	0 0	 - c
Date C				•					0	c	
REL									0	0	0
One	And other than the same and the			The state of the s				•	0	0	0
7280	00								0	0	0
7240	184 874	3,210	0.098	669	67,661	6,643	0.128	820	22,333	2,567	49
7220			0.003	1,70	72, WU	2,000	0.129	903	89,874	14,590	803
7200									0	0	0
		the side of the same of the sa		-				-	0	0	0
7180				**					0	0	0
7140				••				••	0	0	0
7120									0	0	0
7100								•	0	0	0
				•					0	0	
0802				••					0	0	0
7040									0	0	0
7020									0	0	
2000									0	0	; 0
									0	0	0
: 0869			-			Care and the party of the same and			0	0	0
TOTAL	274,868	30,800	0.085	2,605	162,661	13,643	0.129	1,759	112,207	17,157	652

ASSETS

ASSETS	
CURRENT	\$
Cash Accounts Receivable and Advances Inventory-In-Process	1,759,465 210,537
Supplies Inventory Prepaid Expenses and Deposits	1,887,268 26,722 72,850
	3,956,842
MINERAL PROPERTIES, NET FIXED, net DEFERRED FINANCE CHARGES, net DEFERRED EXPENDITURES, net POWER LINE EXTENSION, net DEFERRED STRIPPING COSTS	796,347 1,145,325 173,905 3,001,320 36,850 1,890,639
	7,044,386
LIABILITIES	11,001,228 =========
CURRENT	
Accounts Payable and Accruals Royalties Payable Capital Leases	590, 205 420, 293
	1,010,498
DUE TO MINEREX Montagu Loan Humboldt East Purchase Victor Settlement Other Advances	1,750,000 1,124,262 150,000 301,596
	3,325,858
DUE TO PACIFIC	447,296
	3,-773, 154
PARTNERS' EQUITY	
Minerex Resources	4 004 000
Pacific Northwest	4,834,262 1,383,314
	6,217,576
	11,001,228

The Aurora Partnership Statement of Partners' Equity As At February 28, 1990

	Minerex \$	Pacific \$
BALANCE, OPENING	2,939,288	1,383,314
CONTRIBUTIONS/ALLOCATIONS		_
ACCUMULATED INCOME - PRIOR YEARS	764,183	
NET INCOME/(LOSS) - CURRENT YEAR	1,130,791	
	4,834,262	1,383,314
DRAWINGS		_
BALANCE, CLOSING	4,834,262	1,383,314

The Aurora Partnership Statement of Earnings For the TWELVE Month Period Ended February 28, 1990

	CURRENT MONTH	YEAR TO DATE
REVENUE	\$	\$
Gold Sales	360,515	11, 158, 674
Silver Sales	78,750	197,740
Selling Costs	(29, 645)	(141, 193)
	409,620	11, 215, 221
Royalties	(35, 425)	(855, 237)
NET OPERATING REVENUE	374,195	10, 359, 984
OPERATING COSTS		
그래? [11] 이 회사 이 시간 사람들은 사람들이 되었다.		
Mining (Schedule A)	422,539	4,541,477
Crushing (Schedule A)	40,896	2,502,089
Milling (Schedule B)	16,095	436,923
Payroll (Schedule B)	106,992	934, 115
Maintenance (Schedule B)	13,916	167,412
General and Administrative (Schedule C)	72,318	508,607
Depreciation and Amortization (Schedule D)	124, 199	1,519,163
Operating Costs Before Adjustment	796,955	10,609,786
Inventory-In-Process Adjustment	(198, 689)	(1, 156, 164)
Deferred Stripping Adjustment	(135, 287)	(775, 365)
Total Operating Costs	462,979	8,678,257
OPERATING MARGIN	(88,784)	1,681,727
INTEREST INCOME	(11,789)	(58, 586)
INTEREST ON FINANCING (Schedule C)	22, 371	418,631
MANAGEMENT FEES	16,667	200,000
	27,249	560,045
NET INCOME/(LOSS) BEFORE EXTRAORDINARY ITEMS	(116,033)	1,121,682
EXTRAORDINARY ITEMS		
Gain/(Loss) on Sale of Assets		9,109
NET INCOME/(LOSS)	(116, 013)	1,130,791
OUNCES OF GOLD PRODUCED	874	28, 187
그런 가는 생각 교회에 하는 그런 가장이 되었다. 그는 사람이 되는 사람이 되었다.	========	========
OPERATING COSTS PER OUNCE	530	310
선생님이 되었다. 그리고 그리고 그리고 그리고 있는 그는 말이다.	========	========
CASH OPERATING COSTS PER OUNCE	388	256

The Aurora Partnership Schedule A - Mining and Crushing Expenses For the TWELVE Month Period Ended February 28, 1990

	CURRENT MONTH	YEAR TO DATE
MINING EXPENSES	\$	\$
CONTRACTED Ore Waste Mobilization Force Account Reclamation Dewatering Miscellaneous	57, 252 364, 475 - 742 70	3,571,671 117,000 85,163
rica (251602)	422,539	4, 462, 076
OTHER Mining Expanses (251 602) Total Mining Expanses	Dritting.	79, 401 F
Total Mining Expenses 52.380	422,539	4,541,477
CRUSHING EXPENSES & Kels 422,5 19		
CONTRACTED 4.598,076	25,080	1,693,894 1
Fines Agglomeration Stacking Mobilization Generator	3,678 4,347	248, 438 293, 608
domerat of		
OTHER Cement les 36, us Jun.	33, 105	2,235,940
Cement Power (not dep	4,465 3,326	220, 318 45, 831
	7,791	266,149 🗸
Total Crushing Expenses	40,896	2,502,089
TOTAL MINING AND CRUSHING EXPENSES	463, 435 =======	7,043,566
Note: Total CONTRACTED Mining and Crushing Expenses	\$ 455.644	\$ 6,698,016

The Aurora Partnership Schedule B - Milling, Payroll and Maintenance Expenses For the TWELVE Month Period Ended February 28, 1990

Pouse dep. out	Fels.	
Pave dep. ant 23,877	CURRENT MONTH \$	YEAR TO DATE \$
MILLING EXPENSES	•	•
Supplies	8,992	53, 358
Cyanide	2,493	176,780
Carbon		39,708
Chemicals		634
Miscellaneous Reagents	64	112, 475
Power dep	4,356	41,631
Assaying Boiler Fuel	190	12,337
	16,095	436,923
PAYROLL EXPENSES		
Mine Site	21, 282	200,905
Mill Site	52,709	437,951
Office Site	10, 181	107,974
Employer FICA Tax	6,439	56,056
Federal Unemployment	540	1,975
State Unemployment	2,464	12,088
SIIS/Workmans Compensation	5,591	44,547
Personnel Insurance	7,040	68, 461
Casual Labor		534
Payroll charges	746	3,624
	106,992	934, 115 🗲
MAINTENANCE EXPENSES		
Automobile Fuel	2,476	26,482
Automobile Leases	4,921	69,168
Automobile Repair and Maintenance	1,898	16,747
Equipment Fuel	219	9,055
Equipment Leases		827
Equipment Repair and Maintenance	2,531	18,681
Maintenance Supplies	1,239	22,784
Other	632	3,668
	13,916	167, 412 F
TOTAL MILLING, PAYROLL AND MAINTENANCE EXPENSES	107.000	4 500 450
TATION MAINTENANCE EXPENSES	137,003	1,538,450

The Aurora Partnership Schedule C - General and Administrative Expenses For the TWELVE Month Period Ended February 28, 1990

	CURRENT MONTH \$	YEAR TO DATE \$
OPERATING Advertising	vo /W	
Advertising		422
Bank Charges and Interest	1,125	433 7,067
Claims/Land Leases - H. Hon/Warais	3,000	36, 318 6
Computer Supplies	420	7,026
Communication	물론 (1) 영화가 있다. 유명하지 않는	4, 435
Consulting Service	29,961	181,570
Donations	100	180
Dues and Subscriptions	125	1,376
Education and Training	175	1,165
Engineering Supplies	1,807	13,960
Fines and Penalties		310
House Rent	700	9,425
Insurance		4,538
Late Charges	20.000	404 400
Legal and Accounting Licenses and Permits	28, 260	134, 163
Miscellaneous	1,945	7,805
Office Supplies	281	286 4,848
Postage	281	453
Promotion and Entertainment	45	1,841
Property and County Taxes		11, 518
Safety Supplies	422	10,036
Sanitation	666	8,769
Shipping and Freight	82	1,539
Telephone	2,093	15, 267
Training Supplies	105	2,852
Travel	1,006	32,792
Utilities		8,635
TOTAL OPERATING	72.318	508,607 F
INTEREST ON FINANCING		
Interest - Humboldt East	7,477	134, 911 218, 971
Interest - Montagu	14,894	218,971
Interest - Other		64,749
TOTAL INTEREST ON FINANCING	22, 371	418,631
MANAGEMENT FEES	16,667	200,000
TOTAL GENERAL AND ADMINISTRATIVE EXPENSES	111,356	1,127,238

The Aurora Partnership Schedule D - Depreciation and Amortization For the TWELVE Month Period Ended February 28, 1990

	CURRENT MONTH \$	YEAR TO DATE
Depreciation	36,555	469,184
Amortization of Deferred Costs Amortization of Mineral Properties	69,658 15,615	835, 893 187, 380
Amortization of Leased Equipment	2,371	26,706
TOTAL DEPRECIATION AND AMORTIZATION	124, 199	1,519,163

The Aurora Partnership Automobile and Equipment Maintenance Analysis For the TWELVE Month Period Ended February 28, 1990

	CURRENT MONTH	YEAR TO DATE \$
AUTOMOBILES		
Fuel Leases Repair and Maintenance	2,476 4,921 1,898	26, 482 69, 168 16, 747
	9,295	112,397
EQUIPMENT		
Fuel Leases	219	9,055 827
Repairs and Maintenance	2,531	18,681
	2,750	28,563
OTHER		
Maintenance Supplies Maintenance Other	1,239 632	22,784 3,668
	1,871	26,452
TOTAL AUTOMOBILE AND EQUIPMENT MAINTENANCE	13,916	167,412

The Aurora Partnership Pads Analysis For the TWELVE Month Period Ended February 28, 1990

	CURRENT MONTH	YEAR TO DATE
	\$	\$
	_	
	(
	350	350
	350	350
-	=======	========

PADS AND LINERS

Labor Materials Equipment Rentals Consulting

The Aurora Partnership Ponds Analysis For the TWELVE Month Period Ended February 28, 1990

CURRENT	YEAR TO
MONTH	DATE
\$	\$
0 000	
6,969	-
25,559	- A
71,002	
21,028	
104 550	
124,558	
========	========

PONDS AND LINERS

Labor Material Equipment Rentals Consulting